
FH5420-KO
FH5420-KO

FH5420-KT

8451285030

479422

84338

84323

84336

84361
84336

479422

84361

PART NUMBER DESCRIPTION
FH5420-KO FH5420 Outside Luan Backing
FH5420-KT FH5420 Top Luan Backing
FH5420-HA-RLQ FH5420 S/A Left Knotty Alder Barn Door
    479422 479422 Knotty Alder MDF Door
    84336 84336 Farmhouse Door Roller Bracket
    84337 84337  5/16-18 x 1-1/4" Socket Head Black
    84338 84338 Acorn Nut 5/16-18 Black
    84339 84339 Flat Washer 5/16" Diameter Black
    84340 84340 Lock Washer 5/16" Diameter Black
FH5420-HA-RRQ FH5420 S/A Right Knotty Alder Barn Door
    479422 479422 Knotty Alder MDF Door
    84336 84336 Farmhouse Door Roller Bracket
    84337 84337  5/16-18 x 1-1/4" Socket Head Black
    84338 84338 Acorn Nut 5/16-18 Black
    84339 84339 Flat Washer 5/16" Diameter Black
    84340 84340 Lock Washer 5/16" Diameter Black
10180 10180 Oak Nailer Block
84323 84323 Dark Antique Brass Drawer Pull
FH5420-SA-RAILL FH5420 Left Cut Down Rail
    84361 84361 Farmhouse Door Track
FH5420-SA-RAILR FH5420 Right Cut Down Rail
    84361 84361 Farmhouse Door Track
84512 84512 Rear Fireplace Bracket 1 x 1 x 6
84513 84513 Angle Bracket 5/8" x 2 3/4" x 2 3/4"
84214 Furniture Tipping Restraint Kit
85030 85030  42" Fireplace Insert

Sellable Parts List FH5420

Last Saved: Thursday, March 14, 2024 4:48:45 PM

Some Items In The List To The Right
May Not Show In The Diagrams Below.


	Sheet1
	Drawing View1
	Drawing View2
	Drawing View3


